g8l KM - B - METHPERELFERRE k&

® FooEANRPERELHBEXSEZMR XS TH26%F£5H22H
BeE oy o FRES MEhHT) VA EEE
(BF)
& XFE100m ¢ XF200m ¢ ¥F110mH
FE RESHBREHR P
1 1 23.8 #H% oft (&% &K 3) 1 158 FEbh FH
1% 12.7 Hk E# (= 1B 3) OKX= OKXE#H
2% 12.8 |O =EH O(K K 3) 2 258 EF BT (& E 3) 2 18.4 BT B
3 136 mE B (@ B 3) 3260 ®F EmE (= B 3) 3201 EEH Ht
4 13.6 Mg HEFE (R K 3) 4 210 L EE (B # 3) 4 210 & £}
5 13.7 & ¥& (/M K 3) 5 274 L% ®H (&% B 3) 5 21.4 F &
6 140 AZ BH (F i 3) 6 27.8 B km (& K 3) 6 231 KT Z#t
7 282 O K& (E B 3)
248 8 28.4 IE AFm (7 Kk 3)
1% 12.6 L% M (K% & 3) 9 285 K¥E HE (R #B 3)
2% 13.0 IH% =X (M #i 3) 10 28.6 e #{E (& B 3) & HFEEH
3% 13.0 =% BB (R # 3) 11 295 KB H# (= B 3)
4 137 t%H EE (@ B 3) 12299 5& HF®E (/I K 3) R
5 13.8 £F —F (# A 3) 13 29.9 A 5  (F i 3) 1 1.55 =X @BX
6 147 BR® PE (N K 3) EE BE B (M a 3) 2 1,55 ti5 @
3 1.45 X E
348 1.45 ¥R A
1% 12.6 A B (M @1 3) 5 1.45 @l H
2% 126 B8 RiA  (HE # 3) & #FE400m 6 1.40 HArh 1&E
3133 O WmE (B K 3) 7 1.3 AL HF
4 140 BE IEH (/% K 3) RE2HREHR EiE P ox
5 140 TE BiE (" B 3) 1 57.2 /e K3} (/M K 3)
EiE W HE (= 1B’ 3) 2 51.3 Ik HRF (# # 3)
3 59.4 fHE % (H E 3)
448 4 61.0 FH Hz (= #& 3) & LEEIED
1% 11.6 #B% 22 (& E 3) 5 625 RTFEER (& B 3)
OXEH 6 63.8 BfE IEH (&% &K 3) BB N
2 134 iyt BE (8 B 3) 7 645 EK B (M B 3) 1 579 &b =%
3 13.8 m#E —%F (F i 3) 8 649 KT =3l (M # 2) 2 543 IH =A
4 138 B B (E B 3) 9 651 ZK #BH (8 B 3) 3 519 B B
5 15.3 tH BKX (R K 3) 10 67.0 281 H= (X B 3) 4 507 NE B
EiE 15 B (/M K 3) 5 505 kO EH
6 4.99 EF #Bt
R 7 495 Ak EHE
T 1.7 #\% M2 (& B 3) & #E800m 8 4.80 HIR E#H
(P -T N 9 478 ——=%=8
2 125 @ B (P @1 3) RAB2RORER 10 476 mE —%=
3 125 £EH% M (% B 3) 1 2. 154 ®S K3 (/N K 3) 11 4.69 HiFEEAKER
4 125 BB RA (B #B 3) 2 2. 1.5 /NI R®RE (P #T 2) 12 4.54 A% BS
5 128 HIR EH (= & 3) 3 2. 19.7 1xEA #HA (M @1 3) 13 4.53 & W
6 130 I%H =K (M # 3) 4 2. 1998 8 AE (& kK 3) 14 4.28 EH K#
7 130 5% BB (8 # 3) 5 2. 238 @@ #2 (/N K 2) EiE LE K
8  13.0 kO EH (B K 3) 6 2. 247 EFT #Et# (7 Kk 3) EiE BEF RR
7 2. 250 B &F (= B 2)
8 2. 27.3 Wt ¥t (M) B 2)
9 2. 281 HuiF &3} (#) B 3)
® 1.2%5100m 10 2. 290 Wk M (& H 3) & 1. 24FEiEH
1M 2. 31.0 B =8 (& # 3)
E3 ] 12 2. 337 X8 @ (F i 3) P
148 13 2. 36.2 @ 1B (F i 3) 1 514 BT %
1% 13.2 E@A &t (R # 2) 14 2. 3.2 XA Kth (&= B 2) 2 500 TE BT
2% 13.4 i HT (@ B 2) 15 2. 36.7 B (B K 2) 3 4.8 BA EX
3% 135 BE ZEX (& E 2) 16 2. 386 & &E (R K 2) 4 485 BKX FH
4 13.8 H &N (R B 2) 5 474 B &N
5 14.2 XM ¥ (% I 2) 6 473 BE BF
6 16.8 #BA& BEA (7R Kk 1) 7 466 EHE X
£ EHR #K (M 81 1) ¢ #£F1500m 8 4.66 IUT HEIR
9 430 {EEE S
24 S 10 4.29 3 @
1% 131 BF % (8 K 2) 1T 4. 429 A0 FHE (& #H 3) 11 427 A0 &
2% 13.3 EE *& (# # 2) 2 4. 46.9 JII;Z Bt (#% &K 2) 12 427 KX BER
3% 1356 AR hHie (&% 5 2) 3 4. 479 HE HE (8 # 3) 13 414 & B9
4 13.9 {EEE % (% B 2) 4 4. 526 ER SEA (# B 2) 14 3.64 /A REI
5 13.9 WH#F @EH (/N K 2) 5 4. 538 FEO &Bd (M ®7 3)
6 143 0 & (% I 2) 6 4. 55.8 EH A# (F i 3)
7 145 & ®BH (K &A1) 7 6. 05 E#H 2 (/N K 2)
8 5. 1.4 £%H ZZE (/I K 2) & HBFRAZ
348 9 5. 41 %A HEHE (F I 3)
1% 12.7 & ER (& & 2) 10 5. 51 ft $Rth  (#0 B 2) R
2% 13.4 BHE FE (& K 1) 11 5. 56 B8 k& (& E 3) 11078 J [E
3 137 T BT (R #H 2) 12 5. 10.3 /MEHFZE (H B 3) 2 958 =X X
4 142 WF HEIH (M K 2) 13 5. 11.3 —=—=%8 (& B 3) 3 957 R a4
5 151 ®F K (#H A 1) 14 5. 28.0 F@E #IH (B K 3) 4 9.33 NI EFE
6 160 F HE (7R Kk 1) 15 5. 424 WA K@ (8@ B 1) 5 843 KE ¥
7 16.0 /@ REE (8w 5 1) £ IBA #HN (P9 @1 3) 6 843 WA T
A F& (M 871 1) 7 831 BF =8
8 800 T /KA
R 9 7.68 Ly M
1 12.8 /N8 FERL (&% &K 2) ¢ #£FE3000m 10 7.21 BFH WX
2131 BT % (# O® 2) 1 7.07 =
3 134 HE ME (& K 1) R 12 6.91 EEREK
4 134 BE EX (% E 2) 110, 22,9 H¥ B (B #H 3) 13 6.52 ma =
5 13.5 ip HT (@& B 2) 2 10. 27.4 AWEEH (M &1 3) 14 6.50 Theh #ME
6 13.6 AR {A#C (@ & 2) 3 10. 28.4 kRO i (P &1 3)
7 137 EE &t (B # 2) 410, 30.3 EXR FEA (# B 2)
8 13.8 EE *tE (# # 2) 5 10. 36.5 WuE EIR (% & 3)
6 10. 425 JIiZ IEth (& & 2)
710, 557 4 ®BK (R K 3)
8 10. 57.0 i #&3 (# B 3)
9 11. 16.2 L% ZZE (/M K 2)
10 12. 22.2 =BT ®#% (/M K 1)

>t
N

P b 325 35 >}
<Hek X
wWwhNWw W

~

P

kR ok

|

Fm

AAAAAAAA
HAZA IR
=

syl
W WWWWwWwwWw

NN NN NN

33

=

b+ §8 3 B 0§

WWWWWWWWWWNhwhwwwWw
R N N N N N N N N N AN

s am|

Ph H <k 0% )

2

B bk > >+ T b o 1) 20 R 0 08 B T

~

=

AN A A A A A A A A~

g

Fm

=

=

o
=

=

FSERHM BT

~

=

NN~~~ A~ A~~~ A~~~
— = =S PO =NN =N NN
NN NN NN NN NN N NN

E- 3l
o S ibs

&

~

ERES
B m

31

NN~ A~~~ A~ A~ A~~~
=
=
WWNWWWWWWWNWwwWw
R N N N N N N N N N AN

E IR TE ST
B [k o B ek



(&F)

¢ H#E100m ¢ #E200m & EEREB
PR ﬁﬂ#Zﬁ%AfE% R
148 1 289 BE EM (#H @B 3) 1 4.8 WITF E3 (#% E&E 3)
1% 140 T# IH=E (®% 5 3) 2 30.0 iT# = (®% 5 3) 2 452 BmE fheR (M AT 3)
2% 14.3 BHELF (#% E 3) 3 30.3 /O #m (% 85 2) 3 425 BIELF (#% &K 3)
3% 15.5 1R & (% 3 3) 4 30.7 Kt BEH (&% & 3) 4 414 HA BE (@ & 3)
4 155 iF/ WE (RE # 3) 5 30.8 {RFHAY (#H @\ 2) 5 413 iIF WE (e # 3)
5 16.6 fBAHEH (# @| 3) 6 31.4 BELEH (&% &K 2) 6 398 ;IT &M (v K 3)
7 3.6 & E3i (7v Kk 1) 7 393 FiR ¥ (@ &5 3)
248 8 323 E¥H #i2 (= &/ 2) 8 3.92 mUMAEEBK () K 3)
1% 140 WTF £ (#% &K 3) 9 34.0 HRL BAE (7¢ K 3) 9 3.68 s HE (P @1 3)
2% 14.9 WA HEB (B #0 3) EiE —X EK (8 # 3) 10 366 fF T (H B 3)
3 15.7 ME HiE (% i 3) " 3.62 @iIHE #EE (= 1B 3)
4 16.0 SHHFE (P9 d1 1) 12 3.51 $RAHEH (# @\ 3)
5 16.2 IMERHWPH (@ 5 3) 13 3.50 BHEEF (® & 3)
6 16.3 B BT (78 K 3) ¢ #E800m
34 ﬁﬂ#Zﬁ%AfE% _
1% 13.8 B2 #ar (M &1 3) 1 2. & W (N K 3) ¢ 1. 25FFEEH
2% 149 7H W4E (&% &E 2) 2 2. 40 5 Bk BF (i K 2)
3% 15.5 #HA FF (BE # 3) 3 2. 40.8 JIE =4 (&% &K 3) R
4 15.8 ME KK (# @\ 3) 4 2. M4 B P (= 1’ 3) 1 4. 65 kﬁﬁﬁi?]ﬂ (9 K 2)
5 16.8 BHEETF (® B 3) 5 2. 447 FBEH E=ZT (B &’ 1) 2 438 ## (M 71 2)
EiE AR EX (@ & 3) 6 2. 449 % eE3 (P & 2) 3 422 KH ﬁi’e’: (= B 2)
7 2. 45.0 &FH B (9 K 3) 4 402 TH I®E (&% &K 2)
R 8 2. 46.3 B NkRE (/K1) 5 3.93 HiI =% (/M K 2)
1 140 B2 #sr (M &1 3) 9 2. 46.3 En EE  (# # 3) 6 3.90 MTEXRF (BE # 2)
2 4.1 WTF E3 (% & 3) 10 2. 46.6 =R g (# @| 3) 7 3.8 ARUVLED (&% &E 2)
3 14.2 T8 W= (% 5 3) 11 2. 415 &0 xR (&% &K 2) 8 371 A s (# # 2)
4 14.4 BBHERLF (&% & 3) 12 2. 51.7 @m0 #x (M 81 2) 9 348 EHbLEH (@ & 1)
5 14.9 kX ZEBE (# # 3) 13 2. 53.6 T& ZTEBE (8 # 3) 10 3.4 #EHK & (7 K 1)
6 15.2 17H & (&% &K 2) 14 2. 5571 EEZXEF (# @m 2) 1 3.36 KR =& (#% @| 2)
7 154 1R TR (£ i 3) 15 3. 2.4 mE (= 1B 2) 12 3.28 7 Bz (P9 &1 1)
8 15.6 #HE FF (# # 3) 16 3. 12.2 )ik &8 (% i 3) 13 3.21 #i8 BZX (= &’ 1)
17 3 15.3 HE &% (R & 2) 14  3.12 BT E#F (/K 2)
18 3. 20.4 ¥O #9R (% 3 3) 15 3.07 £#@ %4 (XK & 1)
19 3. 20.6 BF ¥E (® B 2)
¢® 1.25100m
PR & XEmAE
148 & #FE1500m
1% 150 g FF (& &K 2) R _
2% 156.2 AL =F (/N K 2) R 1T 11.93 A ®#E (& E 3)
3% 16.3 KR =& (# @ 2) 1 6. 13.8&%k WH (/) K 3) OKR=#H
4 161 ®)Il T (% I 2) OX=#H 2 960 |RFHAY (#H @\ 2)
5 16.4 mjl kA (@ & 1) 2 5. 23.6 B EF (/K 2) 3 9.28 wRE B (/M K 3)
6 16.9 MATEHEH (B # 2) 3 5. 21.6J18 =4 (#% E&E 3) 4 921 HR INE (M 71 3)
4 5. 30.6FBH i? (® R 1) 5 898 BEFXTF (&% &K 2)
248 5 5. 32.8&HF ELT (7v Kk 3) 6 833 B Xx#E (% i’ 3)
1% 14.9 ABEFH (&% &K 2) 6 5. 4.9ETKREE (&% &E 2) 7 8.32 BEI =& (# @| 3)
2 15.4 ZERFMESR (M 71 2) 7 5. 49.5=%FRH 2 (# @\ 3) 8 8.27 ZERFEZR (M 71 2)
3 154 & TARF\ (I 1) 8 5. 522tz BF (P & 1) 9 776 ME I (® B 3)
4 15.6 B L# (BE # 2) 9 5. 54 EEFEE (#H @B 2) 10 7.65 PF9AT £k (% i 3)
5 16.1 #Rea %5 (@ & 1) 10 5. 59.4EA80HE (= &’ 2) 1 1.50 IRT #HE (" B 2)
EiE SH A (g /@8 2) 1 6. 9.1 @ #FE (% 3 2) 12 71.271 Ik = (= 1B 3)
12 6. 122 B& ®HF (" B 3) 13 7.10 IT &M (v K 3)
3#A 13 6. 13.6/\F & (E B 1) 14 6.84 IR ZR (% 3 3)
1% 146 KB %7 (= &\ 2) 14 6. 14.6 RB)IEE (M 81 2) 15 6.44 ch/NEEK (97 K 3)
2% 14.8 hEHERTF (#% &K 2) 15 6. 25.9 M@ K (% i 3)
3 15.6 4% mE (# #0 1) 16 7. 16.6 8 %A (= &’ 2)
4 16.3 E:;‘f’t 7'2:,; ( § g 1)
5 16.5 A HZF ( 5 2)
6 168 mI ®F (M £ 2) (4x100mR)
¢ #E100mH ® BF
44 1 47.4 % IINER 245 4K3 E BFOHEF2
1% 144 80 #m (&8 B 2) R 2 50.2 7% K S TR IHDS
2% 149 & E3i (7 K 1) 1 15.9 1B% X=F (& B 3) 3 50.5 @ ,& RO3ME & 1HE T 2633
3 15.4 thim BEF 0 (M @1 1) 2 171 F@H EH  (# H 3) 4 50.8 P9 AT HEISEIRT2IH3
4 15.8 #HE X (= 1B 1) 3 .2 RFHHM (R K 2) 5 51.3 B 4B i RRIE )1 32
5 160 & E (# @| 1) 4 179 BEHELF (% £E 3) 6 51.4 & B PHIT I L3 L5
6 16.7 €@ HTA& (XK & 1) 5 19.0 h¥igEF (&% &K 2) 7 51.5 /K ZRILBIMHAURES
7 110 XM 2 (F I 2) BIHEERE (# @| 3) 8 528 ¥ iI 3 A2 IS
9 529 ® 5 Ach2th Q3T ASES
R 10 53.5 #i H RI2 K B HEOHAKRS
1 141 A0 #&mn (8% 5 2) £E = B
2 143 KA %78 (= B 2) & HEERB
3 147 B8 FTF (#% E&E 2) ® X7
4 147 HBREF (/B E 2) R 1 544 & B BOATEIBAIRSS
5 15.0 i (B E 2) 1 1.35 %E BE (& E 3) 2 5.4 % E BB LTI
6 150 & E3i (7 ok 1) 2 1.30 ¥ EF=x (= 1B 3) 3 56.8 = I hEIA M2
7 15,2 HBI EFH (I K 2) 3 1.25 BE HE (& & 3) 4 571 9% XK TR NE3K 2
8 158 RKIE =& (#0 H 2) 4 1.15 58 t¥ (F i 3) 5 57.2 P9 Wi A2t 3k
5 1.15 AR ¥A (% H 2) 6 57.3 #1 H KRR EIEAEIR T2
6 1.10 g HE (P @1 3) 7 59.1 g # HMILAIZ RILEI
7 110 5ZFBAFE (P9 @1 1) 8 60.3 / K 2R DELAMAE
8 1.10 =gk &tk (4 @B 2) Kt F i HANI2EHR34E B3 AES
9 1.10 O #w (= i 3)



